A FI IBUAR 1 OO AL

(R #)
(2) pEM ALt kg M- %
JIE JE H &= e = | AL & % R
A @ b 9,895,213 | 100.0 97 3, 164, 950, 050 | 100.0
1 T 3 1, 330, 129 13.4 72 632, 639, 045 20. 0
2 [ A 344, 199 3.5 43 82, 143, 960 2.6
3 X H 215, 455 2.2 127 40, 4086, 750 1.3
4 * b7 204, 427 2.1 93 66, 022, 500 2.1
5 15 A 189, 404 1.9 100 233, 389, 180 7.4
6 Zs B 138, 140 1.4 82 34, 618, 460 1.1
7 & fi] 90, 860 0.9 116 27, 636, 400 0.9
8 1 (= 38, 446 0.4 102 15, 873, 300 0.5
9 [ A1 11, 837 0.1 8 9, 886, 330 0.3
10 iy o 5, 000 0.1 10 953, 000 0.0
11 & = 4, 440 0.0 75 5,871, 000 0.2
12 X 3 180 0.0 1 280, 400 0.0
13 oK (i 110 0.0 0 28, 600 0.0
14 24 61 0.0 111 48, 000 0.0
15 H JI 60 0.0 33 74, 000 0.0
- * ) it 12 0.0 0 3,780 0.0
- = F 7,322, 453 74.0 114 2,015, 075, 345 63. 7

(1) &H BAZ c kg M- %
JIE Hh H e & e = | AL & HH R
v & bg 9,895,213 | 100.0 97 3, 164, 950, 050 100.0
1 AR AR/ 1,009, 351 10. 2 109 162, 220, 974 5.1
2| B A& B D A 991, 770 10.0 101 190, 173, 982 6.0
3 SN 945, 126 9.6 118 145, 305, 703 4.6
4 BN C 906, 829 9.2 99 264, 796, 549 8.4
51 % #@ & 2 A 799, 319 8.1 84 178, 690, 157 5.6
6 | i F A& B 2 A 575, 650 5.8 112 105, 005, 066 3.3
T E b B LY 560, 703 5.7 93 664, 126, 038 21.0
8 == K 397, 928 4.0 65 124, 940, 020 3.9
9 o 7K 295, 579 3.0 63 88, 154, 842 2.8
10 = " 185, 588 1.9 103 50, 231, 070 1.6
11 Uits 165, 020 1.7 85 37, 860, 640 1.2
212 72 % 4+ v a» 152, 417 1.5 89 31, 370, 155 1.0
13 ST N 141, 833 1.4 113 33, 141, 907 1.0
14 N Hm K 138, 838 1.4 75 53, 879, 543 1.7
5| F 7 >Hh i 135, 740 1.4 133 25, 145, 390 0.8
6| o A v » 135, 077 1.4 88 50, 563, 955 1.6
7| H 4 5 U 134, 559 1.4 93 35, 575, 828 1.1
8l W X 2 A 105, 795 1.1 103 23, 034, 636 0.7
19 A BE A 103, 925 1.1 156 14, 455, 356 0.5
200 & » B v 102, 880 1.0 95 21,904, 927 0.7
- z Ok 1,911, 286 19.3 103 864, 373, 312 27.3




